	Tree Diagrams - Questions
	
	


	Question 1 

Which result is more likely?

a) Getting 2 girls, when randomly picking 2 people from a group of 5 boys and 5 girls.

b)  Getting 4 girls, when randomly picking 4 people from a group of 10 boys and 10 girls.
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	Question 2 

A purse contains 4 £2 tokens and 6 £3 tokens. Three tokens are drawn at random from the purse.  

Find the probability that the tokens will add up to:

a)

£6

b)

more than £7

What value of tokens would you expect to pick in total?




